'GROUP 2 ENGINE SYSTEM

1. ENGINE AND ACCESSORIES MOUNTING

Accel

actuator

11079CMoO1

Air cleaner

- Tightening torque

0| ™
= TeRiTe)
.mm22
S || H|H
© |~
|
™|
1= | W
o™
B | H|+H
= 0| o
o0 ®
w0 olw
Q|| N| AN
N x| x| x
Ololwo|lo
| — | QAN
== =
m567
=
R ol S92
= | o523
as || A H| A
= ||| M
O 0| |
N~ ||~
e | Nlwl Yo
- oo~ | &
s | H| H| H| H
| oo
~ | N|©| ™
To)
Teo)
ola| ™
Ol ===
N X | X
@ X X5
= ===
m1234
=

9-2



2. COOLING SYSTEM AND FUEL TANK MOUNTING

Air conditioner
idle pulley
""‘:".'?

Cooler & radiator

Hyd tank

Fuel tank

Receiver drier —~

Condenser
54
VIEW A
3*% 6 Radiator
Oil cooler
Needle valve
11079CM02
- Tightening torque
ltem Size kof - m Ibf - ft ltem Size kof - m Ibf - ft
1 M6x1.0 1.05+0.2 7.6+1.45 4 M12x1.75 12.8+3.0 92.6+21.7
M8x1.25 25+05 18.1+3.6 5 M20 x 2.5 45+51 325+36.9
M10x1.5 6.9+14 49.9+10.1 6 - 23+06 16.6+4.3

9-3



